
BORONIA TOWBARS 
1/12 EDINA ROAD 

FERNTREE GULLY 
VIC 3156 

(03) 9752 2642 
 
 

TOY92 FITTING INSTRUCTIONS
COROLLA AE92 SED / SECA 2/89 – 89/94 

TOWING CAPACITY 800 KG 
 
 

REMOVE PASSENGER SIDE REAR TIE DOWN HOOK & DISCARD. 
REMOVE BOOT CARPET.  
FIT TOWBAR TO SUBFRAME USING (8mm) BOLTS, SPRING & FLAT 
WASHERS SUPPLIED TO PASSENGER SIDE TO EXISTING HOLES. 
HOLD TOWBAR FIRM WITH JACK & DRILL (10mm) HOLES VIA 
TOWBAR & INTO BOOT AREA (DUAL PANEL).  
OPEN TOP HOLES TO ACCEPT LONG TUBES, FIT 4 ½ x 3/8 BOLTS TO 
PLATES SUPPLIED & FEED DOWN THROUGH SUBFRAME.  
FIT SPRING WASHERS & NUTS - TIGHTEN.  
REMOVE JACK.  
DRILL (10mm) REMAINING HOLE PASSENGER SIDE SUBFRAME 
VIA TOWBAR AGAIN INTO BOOT AREA.  
OPEN TOP HOLE TO ACCEPT REMAINING TUBE, FIT BOLT TO 
PLATE, FEED DOWN THROUGH SUB FRAME, FIT SPRING WASHER & 
NUT - TIGHTEN.  
CHECK ALL BOLTS FOR TIGHTNESS.  

FITTING KIT:  
 
3 – 8 x 35mm BOLTS, SPRING & FLAT WASHERS  
2 – 4 ½ x 3/8 BOLTS, NUTS, SPRING & FLAT WASHERS  
1 – 1 ¼ x 3/8 WIRE TO BOLT, NUT & SPRING WASHER  
1 – 3 ½ x ½ TUBE  
1 – 3 x ½ TUBE  
2 – 3 x 1 ½ x 3/8 HOLE PLATES 
1 – DEE SHACKLE  
 


